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dy €1+sen(t3)

Obtenga 7 . si y(t) = T+ In(1+ 5t) — tan(

|

)

(60 puntos)

)

Solucion:
Sean A = eltsn(®) B = (t —5)4, C = %, D=In(1+5t), E= tan(

=

Tenemos que:

% = el+sen(®) (1 j_ sen(t?))’ = e () (0 4 cos(t?)) (£3)" =
3t2 COS(t3) €1+scn(t‘)

U — 4(t —5)* (t —5)" = 4(t — 5)* ((t)' — 0) = 4 (t — 5)

ﬂ _ A / _ ANB_AB . (3t2 COS(t?’) el+sen(t3)) (t_5)4_el+se’n,(f3) (4 (t—5)3) .
a ~\B) = B = ((t=5)")? B

(t—5)3[ (3t2 COS(tg) el+sen(t3)) (t—5) _4el+sen(1‘3) )] -
(=30 =

(3t2 COS(tB) el+sen(1‘3)) (t_5)_4el+sen(t3) )
(t=5)°

dD | 1 5
o= T (15 = 775 (045) = 175



!/
‘ii—? = secz(%) : (%) = 8602(%) Sty = 5602(%) (—1-t72)=
Evaluemos cada una de las expresiones anterioresent =1 :

dA

— = 14+sen(1)

dt |, = 3cos(l) e

i |, =44 = — 4= 256

ﬂ e 3008(1) elJrsen’(l) (_4)_4€1+sen(1) _ 4(_3 COS(]-) 61+5€”I'(1>—el+sen(1))

dtfimy (—4)° - —@y
-3 605(1) eltsen(l) _ gl+sen(1) 3 COS(l) eltsen(l) 4 pl+sen(l)

N —()° - 756

dD|  _ 5 _5

dt |, 145~ 6

dE 2

dt |, = —sec (1)

i dy 3 605(1) elJﬁS’m(l) _|_61+sen(1) 5 )
Finalmente, = — 4+ 54 sec?(1
Todt |y 256 6 (1) D




